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1. 3T e~ i Al B — 5k, BB 51 1:10000.,

2. AZIAL T BRPES H IX 3 T AR BRI R

TR R AR B EIR PR X

HuFR BURE: 5 2

iR KER: i AR Sm WL R K

B e AU 39°C
AR -8°C;

VKRR FE:0.5mo

3. FKBE
D KA
FP5 | A& (NED | AEFERKE (B | AR R | ZRRKE
O A (M Pa)
(/) (Kn)
1| &&inT) (3000 2000 (1) 1.1 0.28
2 | #ZEIGY T (15000 1200 (3) 1.1 0.28
3 filZ5) (1000) 400 (2) 1.2 0.28
4 A (12000 300 (3) 1.2 0.28
5 KES; (50) 200 3.4 0.28

2) JERAKE: ARAIEX N 3 NTEIX Y 1.2 73N K &R

3)
4)
5

N 90%, % WA 245 HEK DA B (BT, 23505 6 J= .

ERYe) . #IZ5) FEAE) BPEA 12 LG
~NHAFN K ERERHKER 30%1H,K=1.8.
SEALTH AN 30 75 m 2 BiiE BR T A 9 20 /3 mP.

6) AT/ B S A e 2 7K T 4% e iy H 7KLY 15~25% 1t

4. JKJIRKIM R AR AR = 109m, PR 2 AR 55 0 AT R 3 TE, BRER AR AS

iR .




Sefe — B LN S £ =
B AKEMHKETTRE
—. fE HEEHKE
(D FRAWHKE (HKEKZE R 90%)
Q1 =N*ql/24= (3+1.2) *10%%0.9%0.12/24=189 m> / h
AR ql—& e HHKERGE 0.12m° /A« D

N—— R EX AN EE (cap)
(2) KM/ A= HKE

Q2=2000*1.1/8+1200%1.1/24+400*1.2/16+300%1.2/24+200%3.4/24=403.3
3m’/h
(3) KA PR AR FKE
Q3=0.025%3*(300/8+1500/24+1000/16+1200/24+50/24)+(1500+1000+
1200)*0.04/2=90.094 m’ / h
(4) PEE  ASAL /K Q4 (BEIE R : q1=21/7% *m?, n=3 IK; &¥1k: q2=2/
W em?)
Q4 = (2*30*%10000/1000+2*20*3*10000/1000) /24=75m’ / h
(5) ~ILENLAK Q5
AR A K B B A TS K 30%. Q5=0.3 *Q1%*1.8/24=102.06 m* / h
(6) AR KE &S MK EZ R H 25% 11,
(7)) FeE i FKE
Qh=1. 25 (Q1+Q2+Q3+Q4+Q5) =1067. 177 m’ / h=296.438L / s

. Kk
H T2 KXW RN EREN 6 |2, Frbl 3 BE/KE=4% (n+1) =28
=, IEKIBEA

ViE=ViE+Vig+V 5 +ViE8

FH TSk Z %3 T 25 6 AR TR /NN K & A s H R K& B 43 BRI I 0 i
kL BrgB AR R BUE, VIH=10%Qd=2561. 225 m’.

IR XA LD A4, 2T N, & CAKRBEKRBEHFMD, 0 [ — 1] Py
KRB, — UK KK EN25L/ s, KR JESE ] P B 5 S K QK
=2%35%3. 6%2 . 0=504 m’.

K B K &R AR A H K& T K& 5% TS, IVE
=5%Qd=1280. 612 m>.

T 7K I 22 4 i 2 VilR=1/6 (VI +VIE+V E ) =724. 306 m’.

FREBIHR oy 2 AR TR, BUE K A R R 5000 mP,

5. —ZREEuE A G vk K B

— A K & oNQ=4. 17%%1067. 177%24%1000,/3600=296. 7L/s
TR K EAE0—T, 20—240F A3, 06%, {E7T—20 5. 10%
Q=5 10%%1067. 177%24%1000/3600=362. 8L/s



AL — I Jaran N
F=E BEMIHE

—. LREKIEFEEMETER
1. Bl /KB LR N R B 2R 48 . R, a5 TREED, EImasr,
A EREAA S RH.
2. HATHC K B IR A R AN B R AT A oAb R SR, IR ARSI
i}
TH B BRI B A, DRI Tt RN 4R
3. HFC/KE N R B A A R A X,
RIS 57 U G R AT A TR SR e X
4. HiKELNIREFT DRI KO EZ, JEEETR, 5% e E K.
5. NS5 FEIT I 25 A RN 43 3 St 1H AT g
T ORI E W — AR
1 H KSR N & A S AL
2. WEEIEAIEE: M % (ESE) 6700 mbLF, [EFEA KT 200 K; fE700—
1400mmf, [AJEEAS K F400K .
3. WTEAEE, TEHIKAL, EAKE, WK .
4y TR S /K TE R D e e SR RIS, R Ak v B K A R K R
5. EIEVEZFON R TR E AN, FekiE R B, FTInORy f it .
=, BKENMAE
1. BKEWRE, N7 e, 2.
2. IEWE KR IAME :
(1) PigkUL ERKE — N BOEBE, BEA— M.
(2) WAEBEEWH/KEE L, RBNERIT, A RS D).
(3) 1] 1] B LA DT
YR L EJEN], —Fub 2 Rk RN, Lk R, Rl B8 MRk
EIRR 2R .
9. B KA A
1. EMELS5HMmE:
(1) FEe/KE WA KB R A H# A0 T AKX, 0T Re4E B K S 26 1 4
KB, — A B IR
(2) /KA W I A BN A4 )R AT e DA s A6 2 25 31k = B R /K Hh X
(3) FEMME, NRATREA ELEMMNERKH P iER L.
(4) Fe7KT5 2 [8) 87 53 24 7] 5 A 8 4258 DATES A )
(5) FHLARC/KZ H 2 RS Kk I BC K SO, — R & £ 8150—200mm,  fifH
HEES ELKSCE AR /N T 1502K
(6) 3T AV R K 8 I 72 5 e A VR AR T K X 4, RT3 5 5% B [ 4%
) AR K B E %

AR 48 BT 25 00308 7T 117 DX~ 1o PR DA 8 KR B ) A SRS KH P
AL B A5 S — N LT 5 W e 45

(1) FCKE W RARSE PR A B A Ttk X . 7R3 2 A XK E .
KR ESRJENR, RATRe4adle K B & R B, — A B 3R MR .

(2) FERAE, RoJaedn BEMNIAERH A E B, DU ALK
KEMEE.



(3) Fe/KT-5 2 0] B 703 24 () BE AL % B E R, DAE G M

MR DL B LA s, 2561 & X AR 55, 8 e 2R IR 36N, T 551
B I S OALR AT E AT K
Fiv FC/KAE 5 RS BE T () [R] PR
(1) E BRI BAI7K P15
Ay BRER: BLmBARRIRIIIONSK, BRHETIUN10K
B. EHILL N5k .
C. A (RENL 0K ENL 0K REENL K &EN2. 0K,
D. #IJEEMNL. 5K,
E. GEIBEEBIF R N1 0K, & K BT SR NS, 0K
(2) H/KE 55 /KE R E:
Ay BKENATRIETGKE LI, BKESHKEZXR, FINEEFIEAS /N T
0.4k, HAWFHAEDES,
B A/KE S5 KE AT, BAMESFIER KT 1. 5K,
C. Hi5/KE LI RAEL /KE BN, HKEWIRRAEBE, HRHE1E
(FIB 7K B S /KA AE L, A e v i
(3) %18 B AR SUR (35 i -
Ay BKE BB X FE AN 0. 155K,
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By Hil: HEHEHIET, KIETIRER L TR EER, ENBTHKE

F170%

I\ BRI E T

(1) KEZHE

R E Y q=137. 063L/s
gs=(Qh-Xq) /X 1= (298. 433-137.063) /12585.9=0.0128L/ (s - m)
(2) WM EITE

WL BN E BUN LR RS & A8 BURR 3R AA .
BN LR AR

BB T
1~2
1~4
1~8
2~3
3~4
4~20
20~5
5~6
5~8
6~7
7~21
21~22
22~8
9~10
10~11

ik
/m
500.9
519
1163
461.1
603
449
833
1133.2
609
482
282
429.1
365
342
325

R
/m
501
519
1163
231
603
225
833
1133
609
241
282
215
365
342
325

(3) HrEITHE

—'ﬁA I@:

B W DN

S Ol

21
22

10

TWRE/ (L/s)

13.971
4. 680
5.335
16. 532
6. 769
16. 480
20. 667
28. 259
3. 178
3.709
13.679
3. 834
4. 269

e

W=/
(L/s) R
6.408 11~23
6.643 23~24
14.892 24~12
2.952 12~13
7717 12~18
2.876 13~25
10.662 13~26
14.502 25~14
7.795 14~15
3.082 15~16
3.610 16~17
2.746 16~26
4.672 17~18
4378 18~19
4.160 19~9
AR ETTER

R

11

23

24

12

13

25

14

15

16

26

17

18

19

EEK/m THHEEK/m
348 348
219 110
349 349
576 576
531 531
358 179
273 137
315 315
503 252
588 588
349 349
230 230
285 285
361 361
257 257

s/ (L/s)

4. 307
2.928
2.934
9. 318
5. 706
3. 162
3. 626
5.373
7. 469
2. 346
19. 249
7.533
81. 125

AR/
(L/s)
4.454
1.402
4.467
7.373
6.797
2.291
1.747
4.032
3.219
7.526
4.467
2.944
3.648
4.621
3.290



IR B MEAZ

— R
JB X B v FH K B P 22 B 3
AR E=13
Hg= 1
& %= -.190
BB EBK Bt fE RE 10001
) (=K) CK/AE)  HR)
1 500.9 350 53 -50.56 1.32
2 461.1 350 48  -45.88 1.11
3 603 300 57 -40.55 1.89
4 519 150 .53 9.44 4.09
sqtotal=  .598 dg= -.16
W= 2
& 7= -.885
BB BEK it fE RE 10001
) (=K) CK/Ay)  HR)
1 1163 350 48 4571 1.10
2 519 150 .53 -9.44 4.09
3 449 300 47  -33.45 1.33
4 833 300 38 -26.69 .89
5 609 100 S1 3.99 6.33
sqtotal=  .748 dg= -.59
He= 3
& 2= -.79
BB BK it fE RE 10001
K) (=K) CK/AE) )
1 282 250 39 -19.14 1.19
2 215 300 32 -22.32 .65
3 365 300 37 -26.03 .85
4 609 100 Sl -3.99 6.33
5 1133.2 200 45 -14.20 2.08
6 482 200 1.32 41.47 12.87
sqtotal=  .897 dg= -44

P [X 3¢ 1 FH 7K N1 22 308 2

S SIFN sq
(K)

-.66 0131

-51 0111
-1.14 .0281
2.12 2249

S SIFN sq
(K)

-1.28 .0280
-2.12 2249
-.60 0179
-74 0277
3.86 9661

S SIFN sq
(K)

-.34 .0176
-.14 .0062
-31 .0119
-3.86 9661
-2.36 .1660
6.20 .1496



ERIRE= 5

Hg= 1
& 2= -.028
RS EBK Bt mE e 10001
k) (=K KB )
1 342 300 .62 43.67 2.17
2 325 250 .80 39.40 4.44
3 348 250 71 35.10 3.58
4 219 250 .66 32.17 3.06
5 349 250 .60 29.23 2.57
6 576 100 14 -1.13 .67
7 361 200 1.10  -34.55 10.63
8 257 400 92 -115.67 3.10
sqtotal= 4.884 dg= .00
Hg= 2
W& 2= .089
RS BK Bt mE e 10001
K (=K KB OHE)
1 576 200 .67 21.04 4.25
2 273 100 77 6.05 13.53
3 230 100 47 3.70 5.53
4 349 100 .85 -6.64 16.06
5 285 200 .82 -25.89 6.22
6 531 150 .06 1.13 .10
sqtotal= 3.663 dg= .01
Hag= 3
&%= 131
RS BK it mE e 10001
K (=K KB THE)
1 358 150 53 9.29 3.97
2 315 100 78 6.13 13.84
3 503 100 32 2.50 2.73
4 588 100 37 -2.87 3.50
5 230 100 47 -3.70 5.53
6 273 100 77 -6.05 13.53
sqtotal= 3.663 dg= .02

USSP
(K)

74
1.44
1.25

.67

.90

-.39
-3.84
-.80

U SIS
K)

245
3.69
1.27
-5.60
-1.77
.05

USSP
(K)

1.42

4.36

1.37
-2.06
-1.27
-3.69

8q

0170
.0366
.0355
.0208
.0306
3437
A111
.0069

8q

1164
6105
3435
.8442
.0685
.0460

8q

1531

7119

.5499
171
.3435
.6105
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ABIX VBT FH 7K N1 22 3 22

Hg= 1
& ZE=-.091
BK Bz mE R 10001 7Kk sq
CK) (ZXK) CKAEYY  (FH#) CK)
501 350 59 -57.09 1.65 -82 0144
461 300 T4 -52.41 3.02  -1.39  .0266
603 300 67  -47.07 248  -150  .0318
519 200 88  27.55 6.98 3.62 1315
sqtotal= 1.275 dg= -.04
Hag= 2
& ZE= 759
BK Bz mE MR 10001 7Kk sq
CK) (ZXK) CKAEYY  (FH#) CK)
1163 300 99  69.65 5.12 595  .0854
519 200 88  -27.55 698  -3.62  .1315
449 300 82 -58.09 3.66  -1.64  .0283
833 250 1.05 -51.32 724  -6.03 1175
609 100 65 514  10.03 6.11 1.1883
sqtotal= 1.594 dg= .24
H5= 3
& 2= -.813
BEK Bz mE MR 10001 7Kk sq
CK) (ZXK) CKAEYY (FH#) CK)
282 250 90  43.94 5.43 1.53  .0348
215 250 96  47.12 6.18 133 .0282
365 250 1.04  50.83 7.11 2,60  .0511
609 100 65 514  10.03  -6.11 1.1883
1133 250 81  -39.98 456  -5.16  .1291
482 150 89 1569  10.38 500 3189
sqtotal=1.913 dg= -.21
B XV B KB ZH s 3=
Hg= 1
& ZE= 236
BK Bz mE R 10001 7KL$R sq

K (=K K OHED) CK)



1 342 200 82 25.64 6.11 2.09
2 325 200 68  21.37 437 1.42
3 348 200 54 17.07 2.90 1.01
4 219 200 45 14.14 2.06 45
5 349 200 36 11.21 1.36 47
6 531 150 80 -14.16 8.58  -4.56
7 361 300 52 36.86 1.59 57
8 257 400 126 -158.70 478  -1.23

sqtotal= 3.247 dg= .04
Hg= 2
& 2= .609
BERS BK EiR mE NE 10001 7K k455
CK) (Z=K) CK/AFY)  (FHRD) CK)
1 576 150 91 16.04  10.82 6.23
2 273 100 47 -3.68 548  -1.50
3 230 100 43 338 468  -1.08
4 349 200 1.17  -36.64 1187  -4.14
5 285 250 68  33.49 3.29 94
6 531 300 20  14.16 29 15
sqtotal= 2.435 dg= .13
H5= 3
W& 2= 677
BERY BK EiR mE e 10001 7K k455
CK) (Z=K) CK/AY)  (FHRD) CK)
1 358 200 45 14.02 2.03 73
2 315 150 61 10.86 5.28 1.66
3 503 150 1.01  -17.77  13.08  -6.58
4 588 150 16 2.80 47 28
5 230 100 77 6.03  13.45 3.09
6 273 100 47 3.68 5.48 1.50
sqtotal= 2.435 dg= .14
JEIX it H K- Z= B dE 3R
o= 1
& 2= .843
ERY BK EiR mE e 10001 7K3k45 5%
CK) (=K) CK/FY)  (FHRD) CK)
1 1163 300 68 48.02 2.58 3.00
2 519 200 1.13  -3548  11.18  -5.80
3 449 300 24 -16.90 39 -.18

.0815
.0665
.0592
.0320
.0424

3220

.0156

.0077

8q

3884

4059
3188
1131

.0280
.0108

8q

0519
1531

3702

.0990
5129
4059

8q

.0624
1635
.0105



4 833 250 25  -12.16 53 -44 0365
5 609 100 54 4.22 7.01 427 10111
sqtotal= 1.061 dg= .40

Heg5= 2
HeEE= 271
TR Bk B i e 10001 7K 3L$7 2% sq
CK) (ZXK) CKAEYY  (FHED) CK)
1 282 250 .60 29.40 2.59 73 .0249
2 215 250 64 31.63 2.96 64 .0201
3 365 250 70 34.23 3.42 1.25 0365
4 609 100 54 -4.22 7.01 427  1.0111
5 1133 250 .10 -4.84 11 -12 0250
6 482 150 54 9.62 4.24 2.04 2122
sqtotal=1.273 dg= .11
A X B HH KB Z 3R R
Hg5= 1
& ZE=-.571
ERYY Bk B miE RE 10001  7K3L$ 2% sq
CK) (ZXK) CKAEYY  (FHED) CK)
1 576 150 62 10.88 5.29 3.05 2804
2 273 100 34 2.66 3.05 .83 3132
3 230 100 13 1.02 56 13 1272
4 349 200 27 -8.50 .83 -.29 0342
5 285 250 45 22197 1.53 -44 0198
6 531 300 1.19  -84.03 7.26 -3.86 0459
sqtotal= 1.879 dg= -.15
Heg5= 2
W& Z=-.706
TR Bk R miE e 10001 7K 3L$7 2% sq
CK) (ZXK) CKAEYY  (FHED) CK)
1 358 150 24 4.22 97 35 0823
2 315 100 26 2.01 1.86 59 2910
3 503 100 07 -.53 18 -.09 1721
4 588 150 24 -4.29 1.00 -.59 1368



5 230 100 13 -1.02 56 13 1272
6 273 100 34 -2.66 3.05 -83 3132
sqtotal= 1.879 dg= -.19
T S T X H 257 05 P S B /K R RN e s IS AN AH [RD S BT s 2R ul ARt 7k K
JEAR 107, 00m, TS s59F — 2 ik /K Sk B 2k N 7. 57m, ZR 3k PN IR IR 7K Sk 42 2k
J93m, W T & RN :
Hpsk=175. 62+7. 57+3-109. 00=77. 19 > Hp, FIT LA 75 7E g N 3 LUl /2 SE

AR KRR
5 hE KFEAERE

IKIRIEREA CLT S

1 w5 R i m K TR B ER, PR EKKEATE &L
EX o

2) RuJReik HIF M5 KR

3) N REWDKEER, BEIUKEREDEERE.

DA JE RS . AR Ok I R PR DY & ST R g U =00 3, TS0
10sh-6, HEARSHCK: Hidn=1450%; / 4, H/KEZIEH100-180L/s. 7K
RHFR65-70m, H=&ftK, —&IENEHE.

(4) 768-1, 12-244bWBTHEFE N,



22 3k
1. V63E0], (ZKIRE) CEPURO, PEEG T M, 19994,
2. )45, OKESKES) CEMUBO, FEEF TV ML, 19984,



She S s YIL D LD
o 2 /KE WA
. MR
1. Rk
BT K S dE 2 A TR K. T ZE e K . B K . T B A
SEHLFE K . S TR R D g 2
PIRTTANIIAN 4.2 A, BT /NRTT, BUR RS AR 1201/
(N ed), HKEREI%.

KA A RIKE
JERAEFKE OF RATEHKEHN q=1201/d.cap)
?

o~ FHE K=
Q4m?
l. SALFITERE KR Q5 Ml /K&
Qh=1.25% (Q1+Q2+Q3+Q4+Q5) =1067.177Tm? =296.438/s
TUEMK IR

1. £ HKE
K ZEuk:

Q6==(50*0.025*3/24+200*3.4/24)*1000/3600=7.914

FRET
Q7==(1200*0.025*3/24+1200*0.04/2+300%1.2/24)*1000/3600=11.875
EF
Q8=(1500%0.025%3/24+1500%0.04/2+1200%1.1/24)*1000/3600=24.913
T
Q9==(300%0.025*3/8+2000*1.1/8)*1000/3600=77.17

ilEST
Q10=(1000%0.025%3/16+400*1.2/16+1000%0.04/2)*1000/3600=15.191
Q=Q6+Q7+Q8+Q9+Q10=137.063
2T EKE

L=12451m
3. E

q’==(296.435-137.063)/12451=0.1281/(s.m)



IKELEERE 2005 g KHEKE L
LK EM LERERHES T
&ItETE: 1.0 B F 9815
—. WIS
RN AR R AR, 4 B B0 R TE — ) A 5 A A S i 4 KR I R i
it
= REERIFRELR R
L. 3y 1 iR P — 5K, EE 5] 1:10000.
2. IR T B 7 5% o b X I T AR PR
RN - E =T G
B 5 2
N K HUETDAR Smo WL K
B el 39°C
RS : -8°C;
VKRR E:0.5m.
3. FKER

IDEVN:EDA
P | APARR (NBD | A FKE GERO | B RRE | ZRKE
(m’/3r) (Ky) (M Pa)
1| &EahnL) (3000 2000 (1) 1.1 0.28
2 | BFSENGE) T (15000 1200 (3) 1.1 0.28
3 #1257 (1000) 400 (2) 1.2 0.28
4 AT (1200) 300 (3) 1.2 0.28
5 KEEN, (500 200 3.4 0.28

2) JERAKE: BRIy 3 5N X O 1.2 75N HKE RN
90%, % N 1A e HEK DA e (HIG RIS, 258 6 =
3) ENRE). HlZg) ME L) BRI 12 RITHG.



4) MK EEERAKER 30%1t,Kw=1.8.
5) SAGIHEUN 30 15 m® BEIHE S IR A 20 77 m’.
6) AWK F A W I 2k 7K B AT i v H K &) 15~25% 1
4. K IEAKIBEARKAIFR R 109m, PR A BEME 553 T IR TE, BRI
iEmE.
=, RERITHATEER
1. Wit
1 677 FE4 i 45 7K B W vt 1 K &40 5 8 K & 5
2) ZE K M AT B e 2 s
3) WY E . AR S B TR BT
4) WRIEAGrmE (BAIRAED B ERERT . S S 2R i E 88 B

5) MK S5
6) HERER AL VRIS E SR IR AR, HiE KRR
i IE7Y P
T S KK 7 B R B AN BOR A S AR A%, AN R SR, B
06 IR ) Fi
2. WIHER
1 ARYERAEAETFEE (1 10000) ffiE A KE W E LT %
2) HEATHERRTORL TR HE A K BT AT AT M T R s
3) FERUHIRI B TH T I AR ] LA
4) PRFEBETT Db AT 5E B



7K HEL 2B 2005 KA 7KHEK )k
HKEN LREFEERITRESRSE

—. WERITHIRERER
1. BB EKR:

1) BRI E R BRI T HE . 3 B ORI

2) WX RIS, ALK RG, HPRKE. KE. KEFRHER.

3) MK RF R (WELE) FIKIERIELH .

4) ERF LT KL .

2. BT ELR:

D WA EE,

2) WS E (BLE KA.

3) RRHKEFEGRE (BFERORE LIRS, MR A, 7
MRS BEARME (BEK. B WEAACKINR) BoKiim . &HHEZE,
F K R Zebr i M AR = A SE B B KR

4) FRKHKINE BT T 245 1R CER R AR,
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